Ve AL R
Y | SR A B R e

2020 4E 1 B
SERUSERT

g_'g

HPNIERR I - R

. Bl
oA F 85 5 ML R A P A e e
VSRS - DURR IR ~ VIR R T AR5
Il IR R
55 PR R SR S B2 RO - MR IO (i > BB
{LIAE ~ AF ~ BERIBF - 38 {LARA AR N2 152 SR R R A B 22 - et
Wie A » AR AT -
LRI B B E B BN 2 TG RN U S A B R
S A 5 P R

A
BAr - BN EALIE S B0 H EhDIEm it 5 e &8t > (Matri
HSHHENR > (FEHEE L5 EE(LE -
202041 » ={EAE(LIEAF - BEMIBRISEEED -
I RAG R RPN R TR SREY MR o FrAdHECsk A b ag n Ehapr iR (A B
> A BRI REEH B B2 R R S T E B SR e E TR

SR AERATE B RAR e A R A% EE

[REAVEHRIZE -



Ve AL R

ERRAEEERE
20204 1 H
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.016 0.004 &
LA i 1.512 0.000 - 0.470 0.071 =
/L4, (HCI) 4,545 0.046 - 0.511 0.199 =
mIbE (HF) 0.306 0.008 - 0.084 0.044 =
— &b (SO2) 15.147 0.005 - 3.462 2.057 =
—4& kbR (CO) 7.578 0.005 - 0.185 0.041 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.349 - 8.585 1.333 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.006 0.004 &
LA 0.756 0.015 - 0.140 0.071 =
/L4, (HCD 0.756 0.090 - 0.360 0.198 =
wAbE (HF) 0.072 0.028 - 0.053 0.044 =
— &b (SO2) 3.789 1.371-2.515 2.060 =
—&Ei% (CO) 3.789 0.022 - 0.075 0.041 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.880 - 1.967 1.331 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0014 =
R A 0.0378 <0.0061 &
IR R g ) 7.575 x 10°° <6.650 x 1020 &




Ve AL R

ERRAEEERE
20204 1 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.016 - 0.176 0.068 &
LA i 1.512 0.013-0.672 0.070 =
/L4, (HCI) 4,545 0.000 - 0.196 0.088 =
mIbE (HF) 0.306 0.000 - 0.082 0.037 =
— &b (SO2) 15.147 0.003 - 6.461 1.507 =
—4&bi% (CO) 7.578 0.000 - 0.161 0.044 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.725 - 4.960 1.943 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.041 - 0.084 0.068 &
LA 0.756 0.036 - 0.148 0.070 =
Z/LE (HCI) 0.756 0.021 - 0.131 0.088 s
wAbE (HF) 0.072 0.022 - 0.044 0.037 =
— &b (SO2) 3.789 1.126 - 2.102 1.509 =
—&Ei% (CO) 3.789 0.014 - 0.093 0.044 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.225-2.731 1.946 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
IR R g ) 7.575x 10°° <6.621 x 1010 =
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S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(DA 2.277 0.006 - 0.035 0.012 &
LA i 1.512 0.008 - 0.570 0.058 =
/L4, (HCI) 4.545 0.033-0.170 0.107 =
mIbE (HF) 0.306 0.003 - 0.067 0.032 s
— &b (SO2) 15.147 0.000 - 2.789 1.554 =
—4& kbR (CO) 7.578 0.007 - 0.207 0.104 =
HELY (NOx)
DSBS (NOY) 30.303 0.312 - 4.874 1.144 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.009 - 0.015 0.012 &
LA 0.756 0.018 - 0.148 0.059 =
#F/bE (HCI) 0.756 0.069 - 0.146 0.107 s
wAbE (HF) 0.072 0.021 - 0.038 0.032 s
— &b (SO2) 3.789 1.073 - 1.963 1.561 =
—&Ei% (CO) 3.789 0.054 - 0.152 0.104 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.680 - 1.670 1.148 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.229 x 1010 &
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